Différence de 0 (A)

Calculez chaque différence.
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Différence de 0 (A) Réponses

Calculez chaque différence. Résultats:
2 5 7 9 6
-0 -0 -0 -0 -0
2 5 7 9 6
2 5 1 0 7
-0 -0 -0 -0 -0
2 5 1 0 7
4 3 3 0 5
-0 -0 -0 -0 -0
4 3 8 0 5
8 5 4 3 0
-0 -0 -0 -0 -0
8 5 4 3 0
7 9 4 5 2
-0 -0 -0 -0 -0
7 9 4 5 2
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Différence de 0 (B)

Calculez chaque différence.
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Différence de 0 (B) Réponses

Calculez chaque différence. Résultats:
6 8 2 5 9
-0 -0 -0 -0 -0
6 8 2 5 9
6 4 3 5 7
-0 -0 -0 -0 -0
6 < 3 5 7
0 2 4 6 9
-0 -0 -0 -0 -0
0 2 4 6 9
4 2 7 0 1
-0 -0 -0 -0 -0
4 2 7 0 1
6 0 9 5 8
-0 -0 -0 -0 -0
6 0 9 5 38
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Différence de 0 (C)

Calculez chaque différence.
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Différence de 0 (C) Réponses

Calculez chaque différence. Résultats:
8 7 4 9 0
-0 -0 -0 -0 -0
8 7 4 9 0
1 0 8 2 4
-0 -0 -0 -0 -0
1 0 3 2 4
3 7 0 4 8
-0 -0 -0 -0 -0
3 7 0 4 38
9 8 3 1 2
-0 -0 -0 -0 -0
9 8 3 1 2
4 9 38 5 1
-0 -0 -0 -0 -0
4 9 38 5 1
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Différence de 0 (D)

Calculez chaque différence.
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Différence de 0 (D) Réponses

Calculez chaque différence. Résultats:
1 8 4 3 0
-0 -0 -0 -0 -0
1 8 4 3 0
9 7 3 1 5
-0 -0 -0 -0 -0
9 7 3 1 5
3 9 4 6 8
-0 -0 -0 -0 -0
3 9 4 6 38
9 6 3 7 0
-0 -0 -0 -0 -0
9 6 3 7 0
38 6 7 2 9
-0 -0 -0 -0 -0
38 6 7 2 9
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Différence de 0 (E)

Calculez chaque différence.
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Différence de 0 (E) Réponses

Calculez chaque différence. Résultats:
4 0 6 9 2
-0 -0 -0 -0 -0
4 0 6 9 2
6 7 3 4 1
-0 -0 -0 -0 -0
6 7 3 4 1
9 ! 6 3 5
-0 -0 -0 -0 -0
9 4 6 3 5
6 0 9 ! 1
-0 -0 -0 -0 -0
6 0 9 4 1
6 3 9 7 2
-0 -0 -0 -0 -0
6 3 9 7 2
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Différence de 0 (F)

Calculez chaque différence.
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Différence de 0 (F) Réponses

Calculez chaque différence. Résultats:
8 0 3 6 4
-0 -0 -0 -0 -0
8 0 3 6 4
1 4 6 38 5
-0 -0 -0 -0 -0
1 4 6 3 5
3 9 6 7 0
-0 -0 -0 -0 -0
3 9 6 7 0
2 8 0 6 7
-0 -0 -0 -0 -0
2 8 0 6 7
1 9 7 3 5
-0 -0 -0 -0 -0
1 9 7 3 5
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Différence de 0 (G)

Calculez chaque différence.
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Différence de 0 (G) Réponses

Calculez chaque différence. Résultats:
1 6 3 5 9
-0 -0 -0 -0 -0
1 6 3 5 9
9 38 6 2 5
-0 -0 -0 -0 -0
9 3 6 2 5
6 2 4 8 9
-0 -0 -0 -0 -0
6 2 4 38 9
1 0 5 2 7
-0 -0 -0 -0 -0
1 0 5 2 7
0 6 38 5 9
-0 -0 -0 -0 -0
0 6 38 5 9
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Différence de 0 (H)

Calculez chaque différence.
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Différence de 0 (H) Réponses

Calculez chaque différence. Résultats:
2 6 7 1 8
-0 -0 -0 -0 -0
2 6 7 1 8
38 1 5 0 7
-0 -0 -0 -0 -0
8 1 5 0 7
6 8 2 9 7
-0 -0 -0 -0 -0
6 38 2 9 7
5 1 0 8 9
-0 -0 -0 -0 -0
5 1 0 8 9
7 6 5 38 2
-0 -0 -0 -0 -0
7 6 5 3 2
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Différence de 0 (I)

Calculez chaque différence.

5
-0

1
o W

1
SN

1
O =

S 0

7
-0

I
o Ul

o O

1
O

1
o O

I
o

1

o W

)
S O

1
O =
1

o W

1

o

1

o d

I
O =
1

O NN

Résultats:

I
-

1
oS O

o

S BH

S O

/25

MathsLibres.com




Différence de 0 (I) Réponses

Calculez chaque différence. Résultats:
5 7 9 3 1
-0 -0 -0 -0 -0
5 7 9 3 1
3 5 0 6 8
-0 -0 -0 -0 -0
3 5 0 6 3
2 0 1 3 4
-0 -0 -0 -0 -0
2 0 1 3 4
1 2 3 7 4
-0 -0 -0 -0 -0
1 2 3 7 4
38 0 1 2 9
-0 -0 -0 -0 -0
38 0 1 2 9
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Différence de 0 (])

Calculez chaque différence.
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Différence de 0 (J) Réponses

Calculez chaque différence. Résultats:
7 9 3 1 0
-0 -0 -0 -0 -0
7 9 3 1 0
38 6 5 7 2
-0 -0 -0 -0 -0
8 6 5 7 2
0 2 6 7 4
-0 -0 -0 -0 -0
0 2 6 7 4
9 3 6 2 0
-0 -0 -0 -0 -0
9 3 6 2 0
7 5 38 4 2
-0 -0 -0 -0 -0
7 5 38 4 2
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